o
[N

ko) n
® E
N OLBE e b
S C
el 0_1:_ ................................................
\ -

- g i R
[ : E it
I 4

3 -2 -1 0 1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
=
a1

o
N

I AR RN I SPRN [FR 11 D

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

(23 e ]
o O

< 00, > (M)
D
o

20

100r

<0 / > (Y
PP, > (Y0)
O = N W N O

3 -2 -1 0 1 2 3

..........

9375 210 1 2 3

TP n (PCA- to beamline)

= 100

—-60F------ Feeeeenn HALARRYRLAL Y TAFY I Y P S

37 1 0 1 72 3
TP n (PCA to beamline)



	Contents
	Page 1


